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7 90 BARER ARAFa9s —amEsms 4
8 99 R E8 4301y J\vEh 3
9 10 I &X  +h1avh  KEFEND 4
10 40 HHE 3 N EE FER 3
11 2 Bl T AF'Yvan FHE/D 3
12 114 IR KE 9h&n'5 §°4F LoLZELE 3
13 135  £5K LKER AR'% V'3v4ny  KE/N 4
14 112 e B2 qYhM4Y7 ULoLEELE 3
15 108 mft R FHAT IHE FEEFET/D 3
16 87 M EE LYY Y KFEN 3
17 23 BNl EB  A4vhInE BEDN 3
18 54 2ilEEZE  KwHFY; KEND 4
19 115 &R K 7VFh 494 voLEEr 3
20 35 REM®F 14vant FF/N 4
21 33 EM@ fBRE /74 T7¥E  KHE/MN 3
22 26 INE IKER 2Yv a9t J\VE/N 3
23 82 $A ME AR+t =Fh 3
24 29 B kK /LT H0 FE/RD 3

5:64F 1000m

IEGL  ORD  Fun'— K 4 2UH+ g =5 FCER
1 31 ERE &AN MAUUF \VE/D 5
2 75 BH LD 954130 5
3 117 BZE 38 A volEELE 5
4 69 hE EFR Y h)y KEND 5
5 122 27k B3 s Fub voLlEELE 6
6 121 ABRE B R84 T7RY LolEELE 5
7 9 I E£f  Fh1n  XKFED 6
8 110 B Y 17t )Y BN 6
9 120 @ EFE 7ifa YY) LoLEEE 5
10 44 KE FEE AN 1Y FEMN 5
11 80 8K T’ ARFYDE  =Fb 5
12 71 B EE AN ARy FEiR 6
13 100 ¥R FERE —4/349t4 J\VE/D 5
14 89 BB HEC UAFEA THEN  BIED 5
15 124  mO@E WAL Aby 4on boLEELE 6
16 86 A KE A a9 FERD 5
17 137  ®IE B 180 J\VE/D 5



